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O HERADHMEE (ha) 879.0 ha

@ Frh— FRAEEICEE LBRAORMFAE X EHHEESOSHEAROSEH | 619.2ha

@ 77— FRAEZFICEELELZHMRRNIZET2T0FULOBEFEOREEEOSE 270.2 ha

i DHRMENZTOM (RE) ORFEOHEFEROGEH 2.9 ha

i DHEBEMBICOVWTTFHE (BL) DEREZEOHFEEDAE 71.6 ha

@ MERAIZEVTSEHPODBEARNSIESZTIERADHSHEEABEDOEE 355.8 ha
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DEZFANDREZFSVBEEG D,
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=HEE - TDNIESE% - RIEKE - EHREORMAAIL, PLEEARTHIEADEE
REERENR - AERFBOREMANSES I, AEERXEOREFTRMEEOZANERE
FTHIETHIELTWLL,

HEEEE - MPE% - \REK%E - KMEFORMAME, PLEEARTHIEADRE
EXRBFIRERRUVEZERABIZENR, AEERXFRER, REFTHAUREIRERLES
FED, RERXECLPRETHURBREEDZANZRET S LTHELTL,
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REE EEVN SHOBMDEIZTOER

R (K% - &) REAER RE@EE (ha) REAER BEEHE (ha)
REE A AES 3.001.5 &S 6.00
REE B K - K= 21.40|KkFE - XK= 30. 00
C Kig - 0vFEDLY 2.70[Kk%E - 0FEDY 2.70
D K- 7 RISHR - TN - AT 1. 68|xm- 720552 - 7n—s waz 1.68
RER E KFE - 85 1.50|k%@ - /35 - B 2.00
RE F YAZ - W2 1LAVAZS - WD 0.90
RE G K- YA RES - 0EDY 4. 20|k - vac - 5E5 - vEbY 4.20
EY H Kig - £E - % 0.50(K%& - fE= - B3 0.50
I YAZ - TRASHA HE - Lol 6. 30[vec-7r5nz - 83 cons 10.10
R= J Kig - £E - % 0.80|/K%& - S 1.00
K KFg- YA 4. 70kfE - VAT 5.00
L JKFE 1.20|K%E - &S 4.00
M KEE - YAT - FRISHR 0.85|km- vaz - 7RISHR 1.15
RE N KiE- YA T - PRASHR 0. 90|k - YA - FRIASHR 1.04
O TFAINTGHR 0.20|7 R/INTHR 0.20
RE P KEE - PRASHR - T2 R b 6. 30|k 725 HR - 2=k k 10. 40
R Q Kfg-I=brT b 2.50[kFE-==hb< b 3.20
RE R KiE- b2k 30. 30({KFE - b= K 33. 60
R S JKTE 4. 60| 7K Fg 4.60
T JKTE 1. 30|k F& 1.30
R U W2 0.60|L\5 0. 60
ik \Y w2 0.20(LvB5 0.20
R w Kig-YAT - Fx 2.10(kfE - WA Z - B3 3.80
R X SOSAY 0.10|1>9 3 A > - KF# 2.20
Y YAZ 1.00(WAC 1.00
B8 z w2 0.10(LvB5 2 0.30
iR a K #ig 16. 00{7K F& 20.00
& b K - K= 35.10|k%E - XK= 45.00
EY c Kig- YACD 5.30|K%E - YA T 8.50
EY d Kig- YACD 2.53|KFE - YA CZ 3.40
e Kig- YA 2.90[kFE - VAT 2.90
f Kig- b2k -10BC 0.90[k%E - YAZ - L 2.20




RE g (ICA 0.20( k< k 0.20
RE h 7K Fg 33. 00|/KF@E - E5>NAZES 50.10
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RE i IKHE 5 30|k#E- YAZ - bRk 6.10
RE i K- YA 3.90|KkfE - YAZ 6. 00
s k FRISHR - S= kT k 0.60|7x/85HZ - 3=r= b 0.60
RE I KFE - /DR 3.60|/KFE - N IR 10. 30
RER m Kig- YA kT k 3.30[kfE- VAT - T b 5.00
RE n KFEg- k< k 2.50[KkFE - F< K 4.30
EY 0 YA 3.50|Y A - KFE 6. 30
RE P Kig- k< k 1.50[k%E - b= K 1. 80
RE a Kig-YAZ 5.90[kfE - YAZT -3 D 6. 30
R= r Kig-YAZ 3. 70|km@ - vaZ - FRIASHR 5.20
EY s KFg- YA 1.90[kfE - YA Z 14.50
RE t K@ - IhE 18. 00(/K%&E - 1hE 54.00
EY u F2k-YAZ 1.80|KZ - bw k- YAZ 2.80
EY v [CAlZ< - YAZ 3. 50|kE - 1Al=< - YA T 4.30
REE w [TAl1Z< 7.50[I2 A=K 20.00
REE X K - K= 32.50|KkFE - XK= 38.00
y KfE-YAZT - bt 1.90|kfE - VAT - 33 1.90

EY z KFg- YA 2.10|kfE - YAT 3.60
7 YA Z 0.40|VAC 1.00

RE 1 JKFE 10. 00| 7k & 74.00
RE '? Kig-YAZ 4.20|kFE - YAT -1 D 11. 40
EY T KFg- YA 2.50|KkfE - VAT 2.70
* KFg-YAT 2.10|kfE - YAT 2.10

EY vii KFg-YAT 2.40|kfE - YAT 4.00
* KFg-YAT 2.70kfE - YAT 2.70

RE v KFE- b2k 3.80|KkK%E - b¥ b 12. 40
R= r KR - EERTR - BIHR 3. 70|k - e B - BB R 5.50
RE | JKFE 5. 00| 7K #& 6.00
EY H IKFE 6. 00| 7K #i& 6. 90
> KFE- b2k 2.10|1Kk%E - < b+ 2.00

EY R KFE-YAC 4.40|K%E - YA CZ 5.50
t YA Z 0.60|UAC 0. 60




Y Kfg-KE2-YAZD 3.40[KFE - VA 2.70
RE 3 KEE-HE- PR b YAT 12. 80|k% - Bx- r< k- YA 26.12
RE F JKFE 31. 00| 7K 7 50. 00
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R Y K- ke k- VBT 8. 10[k#E - k< k- VBT 23.40
2 T K- YA -AFT - bk 30. 90|km- vaz - 455 bk 39.55
RER k WwsZ 0.60[LV BT 0.80
B + w2 0.25|LvB6 T 0.25
R= = JKFE 3.00[kfE- == bk<k 10. 30
RE X JKF@ 15. 00|k% - 7 vay—EH 20.70
R * w2 0.27|vsz- smae - AEZAH 0.90
B / w2 0.40({LvB5 T 0.40
B A Sl el 0.07|1== k< k 0.13
B E (A 0.40| k< K 0.40
KiE - K= 26. 00|/k%g - XK= 31.00
~ JKFE - 4 13. 40{/K%& - 4@ 16. 40
B 7N w2 0.10({LvB5 0.10
R < WwsZ 0.183[LVB 0.13
ik = Sl el 0.30|==k< b 0.13
RRE Ls Jayal)— 14.00|®- 7avau—- <t z=bz 50. 00
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